Adss2
[image: image1.jpg]20.loglF(jo)| 20 dB/dek 20 dB/dek
[dB]




[image: image2.jpg]20dog\F(ja)|
[az]

20db / dek

0db/ dek

@ [s']



[image: image3.jpg]


H(p)=a0+a1p+a2p2+..aMpM/b0+b1p+b2p2+..bNpN=(πi=1M(p-poi)/πi=1N(p-pxj)).k ,H(p)=|H(p)|.ejφ(p),H(jω)=(πi=1M (jω-poi)/πi=1N(jω-pxj)).k = (πi=1M |jω-poi |.ejφ(ω)/ πi=1N |jω-pxj |.ejψ(ω)).k = (πi=1M |jω-poi |/ πi=1N |jω-pxj |).k. e j (∑φi-∑ψj)=|H(jω)|.e...,20log|H(jω)|=20. log|k|+20∑i=1M log |jω-poi |-20∑i=1N log | jω-pxj |,φ(ω)=∑i=1M φi(ω) -∑i=1N ψj(ω) Pr.F(p)=(p+1)(p+3)/((p+1+j√8). (p+1-j√8)) (nuly / poly),nuly:ω=1=|p01 |,ω=3=|p02 |,ω=√1+8=|px1 |,ς=σ0i /√σ0i2+ω0i2 =1/√1+8=0.333,{-σ0i+ω0i ,-σ0i-ω0i kompl.zdruz. koren},k-meni AFCH(ampl.sa posunie o 20.log|k|),FFCH sa meni ak k<0(FFCH sa zmeni o π)
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